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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ Tt 'Flﬂ'&ﬁ & a:ﬁl', ﬂ'@ Cai
faazor T8 31

1. Moderate / HEIH
2. Equal / GHTeT
3. Appropriate / Yl

4. Same / T Wil

Correct Answer :-
e Equal / HHTeT

2) The primary focus of a formative Assessment for learning should be: / SRR & ﬁI'Q Th URfY®
3Tpe &1 YT g g1 =a1feu:

1. checking the classroom presence of the child / T @ pel H IufUfd of S BT

2. checking memorizing skills / TARUT G IR B STTd HRAT
3. help in improving writing skills / TR T DI ﬁ‘iﬂ?ef T Agg HAl
4, understanding the gaps in learning / SRTH H RTA B HHAAT

Correct Answer :-

« understanding the gaps in learning / S H SR Bl SEERI

3) Mohan is a 13-year-old 9t class student with a mental age of 16. What

type of child is he based on his IQ scores?/'l:ﬁBT-l 13 aﬂfq=ﬁ?ﬂ$&rr$rw%, e Al 316
21 98 A i TR & SMYR W {5y YR &1 9= 82

1. Imbecile /343'51' Iqr A

2. Genius / 9fa¥maTeT

3. Above average / 3ET & X
4. Superior / RS

Correct Answer :-

« Superior / aR®S



4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? /

ﬁﬁ?ﬁmvﬁm%mnaﬁwmm%ﬁmﬁaﬁﬁsﬁa%ﬁmmm
ST 82

1. Latency / 3cTaeFdTaEdT (ofcH)

2. Phallic / Tol9T TeITATaEdT (hice®)

3. Oral / HETGEAT (31R)

4. Anal / T[ETGEAT (TsTe)

Correct Answer :-

* Anal / T[CTIEAT (VeToT)

5) What is Progressive Education? / Tttt Rrem < %?

1. It has standardized testing / Eﬂﬁ WI:W’Q@F[ qﬁ&‘lUT Eﬁ?ﬂ %I

2. Itis Learning by doing / S8 X §U JHTaem (aifefar a1$ 3591) @ &
3. It is data-driven learning / 3G SeI-3memia 6T giar &

4. 1t has standards-based curriculum / SHH HIeTehl U MR ITsTHa 8T &1

Correct Answer :-

« Ttis Learning by doing / 3HH &d gv ifeers (afster a5 5\37[) gier &1
6) is called maturation. / CARIELE I CHEIGH %I
1. Family intervention / gRaie Wﬂq

2. A change due to cultural influences / '\'TW}_%E JHTal & HROT Teh qﬁﬂ?“ﬁ

3. Natural biological development / Q'@fﬁ'aﬁ SAfae e

4. Change due to environmental pressures / JATEONT Earat & SIRUT gRadeT

Correct Answer :-

» Natural biological development / W SAfae e

7) study is applied to study in which some of the individuals have been measured on at least two
successive occasions / g Bl FIT'];W% & ﬁl'l'{ 3y foar Sirar %, fad | PO
HfFadl B $H A $H & TAR SGER] IR T 14T g1

1. Extended Longitudinal Method /ﬁw eﬂ%m‘ Q@'
2. Longitudinal growth/ 3‘1@%\"3& ac?\'\%

3. Cross Longitudinal Method/ $h1E 31T faehrer
4. Mixed longitudinal/ TRTSIT 3re7de

Correct Answer :-

+ Mixed longitudinal/ TATAT 3rgced



8) Which of the following is not a use of an intelligence test? / ﬁmﬁﬁa##ﬁmﬁ@qﬁmm
IR AL YT 8?

1. Selection of students for scholarships / Wﬁéﬁﬁ'ﬂ'ﬁlﬂi ol Il
2. Evaluation of teacher’s performance / fﬂ%%ﬁ?ﬁww

3. Grading of a student / Teh &TF &I A9

4. Predicting a student’s success / Uch &4 FT Tholdr T Ht\drloj:Hlﬂ ]

Correct Answer :-
« Grading of a student / Teh ©TF T A3

9) The main objective of ADIP scheme is to provide to persons with locomotor disability. / TSI3TSUY
AT FT AT 35827, AFANR feeiorar a safFaat Ht YT FTT ¢

1. Disability certificate / f&eamaTdr JHTOTIT
2. Employment / IISTITR
3. Education / forar

4. Aids and Appliances / HgrIH 3R IO

Correct Answer :-

« Aids and Appliances / @grIH AR IO

10) The three major themes in Vygotsky’s Social Development Theory are: / mgvﬂ?aa?r & FHAISS
e Ry & &7 ww Re &

1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / TalTelTcHeh QfQ\T&j?IT , ATATToTh
FEATRIaT 3R gREaRe fFuRorarg

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. /

HATATcHS iRIeIar, 9 aRef #efierd, givey [emg & ax

3. Reciprocal Determinism, Reward and Punishment, Classical Conditioning. / IREIREH ﬁ'iﬂTUTEITEI, EIRIIRG]
3R &3, AT 3reToholel (Fellf@eher sHsrerfeian)

4. Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / STHTToTh
HEHATRIAT, GHIIEY Tahrd &1 817, 37 3T AT Teef

Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / ATHTToTH
FeTiarar, GEITY A T &7, 3 31 AT Usel

11) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction
and stimulation. / AR A 3R 30T F e HTW Yo T & AT &1 W,
FO TH TFR T JIFHIT o

1. Disadvantaged / afdd



2. Normal / GTHTT
3. Backward / 9gddTt
4. Gifted / gfqdTaTT

Correct Answer :-

o Gifted / STa#TaTeT

12) Language development in children follows the Principle of / oot & o 1 e g m}l’lﬂ' &
et g e

1. Integration / TehIehTOT

2. Uniform pattern / Teh&Y Yoot

3. Continuity / feReRar

4. Individual differences / SATFAINT [HoaAdT

Correct Answer :-

e Uniform pattern / Teh&Y Yoot

13) Direct method is also known as : / g7 fafer =i s ™ # oft ST SIar %:
1. Direct approach / JcJ&T TiShITT

2. Inductional approach / YRUTcH® T fScahIoT

3. Natural method / Yrehfcier fafer

4. Indirect approach / 39cT&l Tfcahiv

Correct Answer :-

» Natural method / ';rmﬁm Jafer

14) In collaborative learning, it is better that the students go through ./ ganit feers ﬁ', I8 dF %
fF o ¥ ATEIH § T¢I

1. Self-assessment / Edd: 3ol

2. Formative assessment / Y{dellcHh d-lichoio-l

3. Peer assessment / areft 3fTeholeT

4, Summative assessment / q\ldllcd-ldn J-Iichoio'l

Correct Answer :-
o Peer assessment / grefy 3feholeT

15) Rating scales are used to measure / F AS F T FA AUROT AT AT ) FT 39AET
fFar Jrar §1

1. Intelligence / g?{ﬁ



2. Attitudes / a@aﬁr
3. Achievement / 391 B3]
4. Skills / IreT

Correct Answer :-

o Attitudes / a@aﬁr

16) Which of the following disorders is caused by an extra twenty-first chromosome? / T & ¥ sl

o1 RFR v Afalea sFhad IO F FROT g1 B2

1. Phenylketonuria / a?—ﬁfﬂ'ﬂaw

2. Down syndrome / ST3¢1 @—Qﬂ

3. Turner’s syndrome / TR FI ﬁls’m

4. Sickle cell anemia / Gl hITAPT IRFAAT (Rher TeT TAITAAT)
Correct Answer :-

e Down syndrome / SI3e] @—;PFFT

17) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/

fPrafaRa & ¥ #1 g IR e I A 3T, gE FH F FAWG F A30F
1. No transfer will occur/aﬁé ofY TATaOT Fl_E?f ?I?TTI

2. Extent of transfer will be minimum / TITTAROT &7 fAEAR egoIdH grem|

3. Extent of transfer will be less / TATATARUT T [dEAR FHF g

4. Extent of transfer will be greater / TATATARUT T faTdR 31T gam|

Correct Answer :-

« Extent of transfer will be greater / TATATAROT T faEaR 318 gram|

18) Which of the following statements best defines motivation? / AFafaf@d & ¥ FIFT-AT FUT YoM Y
=B RE IRAAT Faar 2

1. Internal state of an individual that arouses, directs, and maintains behaviour./ frar safea & 3ﬂ?|ﬁ7=h_ yfa ar
IR &l 3dfoid adl g, FERIa iy § 3tk e @ &1

2. State of one’s emotional strength to respond to difficult situation. / FideT aRTEATT FT @ ¢ & folv T
HIaeTcAS AfFd @1 fEufa|

3. One’s ability to demonstrate discipline. / 3-1?:]; M TS el T &THdT
4. One’s ability to do a task quickly and neatly. / fRET FRT & FTedr 3R 3oeT b T T HT &TAT

Correct Answer :-

o Internal state of an individual that arouses, directs, and maintains behaviour./ T eafga 1 3aies afa s
SIAgR &l 3dfold ddl g, [AGRId aXdl § 3R Fo0 3@ gl



19) Which of the following is not characteristic of a relational learning style? / foFafaf@d HA A &l @1
gaeuTcAS At A f RAdwar € 2

1. Sequential thinking / 3-17:!:95@3? ara

2. Perception of information as part of a whole / FE[USI' & BT & & H AT $r aRom

3. Intuitive learning / Hgol ATel e e

4. Improvisation / 3TTRTEEAT IT Alchiieleh Fe2lel

Correct Answer :-

+ Sequential thinking / 37eJsh{&e I

20) Which of the following teaches parents a range of techniques for controlling and managing their children's
symptoms, especially with children diagnosed with conduct disorder? / Frfef@T & ¥ sladr 9 , HIdI-
Rar & 3ver a=al & Jaro F IR S 3R Tt Fa F P & ad § Oed T [@ey
T @ ITROT {AFR (FeFe BHAE) § AT aa &2

1. Parent training programmes / ai‘c' aﬁm m

2. Functional Family therapy / FrITHPS TRaR W

3. Systematic family therapy / quTTeieTd hiFelr aXdr
4. Play therapy / Tor AT

Correct Answer :-

« Parent training programmes / ﬁi‘c’ aﬁ"T @I";I'll'\q

21) What among these are not personality traits?/ ET'F# ¥ 41 gfFdca F&TOT AET 82
1. Thinking-feeling/ TaaR- HTG=T

2. Judging-perceiving / 37TehaT. -gHSAT

3. Sensation-intuition./ HAGaT- 3c: T

4. height-color / Fe-3aT

Correct Answer :-

« height-color / He-TaT

22) What is a rule that always leads to a solution if used correctly called? / 38 I & F41 FEr AT % S
FAAT UF WA Tl § TG 3HHT TEl &1 § 39T FoRam sIm?

1. Heuristic / Tad: XY (SGRREH)

2. Algorithm / TeaRZHA
3. Information processing / ¥deIT JHEROT

4, Stereotype / m (FEIRAeEy)

Correct Answer :-



o Algorithm / TedllNZH

23) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other
information? / ST F§ TTAT HYAT AN AT 39 F W FHiga Far §, 3R 357 ga=mat A
e FT §, O P YHR F 3y geiid gar §2

1. Selective attention / TellcHD A

2. Simultaneous attention / -{-Id-ldnlfaqv JddTed
3. Divided attention / T%T&Fd 37aeITeT

4. General attention / HTHICT 3T

Correct Answer :-

o Selective attention / IATcHD T

24) There is an addition of information to the existing information in learning./ T &

Hisrar SRR & v vw sfafed Twar ¥
1. Sporadic / %TEE

2. Spiral / after

3. Linear / Y@

4. Disjunctive / faarefr

Correct Answer :-

« Spiral / Gt

25) Who among the following did not propose a trait theory of personality? /

farafaf@a & & Fae cafFdaaa &1 v Rdvar Reua (2 o) gearfaa a@
1. Hans Eysenk / EF éﬂﬁiﬁ

2. Raymond Cattell / IHS ol

3. Albert Bandura / 37eeic ET'U§TI'

4. Gordon Allport / s 3ifemre

Correct Answer :-

« Albert Bandura / 3Teaic E:IIU?QT

26) An individual achieves the masculine or feminine social role during ./ wE @

& ghurer diww 71 For @ s{fAHT e Far
1. Childhood / ST (TTScSGS)

2. Adolescence / freiRmasar

3. Late Childhood / 929 §99<T (elc RIELERE)



4. Infancy / Qera

Correct Answer :-

. Adolescence / feiRrarer

27) Meta components, performance components and knowledge acquisition components are categories of:/ Aer YCoh,

yedie "ew 3R A wifta gew A & & fradr Aftrn &
1. Tripartite Theory/ T¥9&Nar facena

2. Triarchic Theory/ [ECIIE] @?{\UI?T

3. Allport’s Theory/ 3TAAE HT ﬁlﬁfﬂﬁ

4. Eysenck’s Theory/ 3-]1?:@3? 2l f@?{}ﬂ?f

Correct Answer :-

« Triarchic Theory/ T3eIOT—T m

28) Skinner advocated that learning was more likely to occur when/ f®&HeR & g&hrad 1 fF W@ar &ir
FHTGAT a9 3w g § o9

1. Explaining public events or observable behavior/ Arasifaies "3l AT ITcliepaiiT Sqdgil Fr AT FLAT
2. Observation of a behavior is followed by modelling/ T SIIER &1 3dcilehe Ufagel garT fhar Jrar g
3. Behavior becomes a reflex response to stimulus/ SIdgI 3dorel & foiT T gfaare gfdfhear s Srar %’I

4. Behavior is reinforced with a reward or punishment/ SIdgR @l Teh SATH AT TNl o AT Yafold fohdT SATAT
gl

Correct Answer :-

» Behavior is reinforced with a reward or punishment/ €ddgI{ FI Th SollH AT HSIT & IO1Y gdteld fohar Srdr

gl

29) Which one of the following methods is used to study the behavior of an individual in its totality? /

frafafaa A 9 fea faf &1 IuanT et sufdd & saagR &1 3P FHUEr § 3eudq o34 & g
o wirar 82

1. Observation Method / 3raclisra fafer
2. Experimental Method/ gaemeae fafer
3. Survey Method/ &deor fafer

4. Case study Method/ & ¥edr fafer

Correct Answer :-

. Case study Method/ & 3 fafer



Which of the following is a projective technique to assess the personality? / ﬁﬂ:ﬂ%l'@ﬁ ﬁ '\q 3)3'7{ ?ﬂ 'Q'&}Q'UT
dP-1P AfRTa BT TP HI & T g1 & 2

1. Rorschach Ink blot / IIMTeh TTET T ST (ﬁw EWU'IE')
2. Interview / HT&ITchIX

3. Questionnaire /92Tl

4. Observation / J&T0T

Correct Answer :-

« Rorschach Ink blot / =M WTST BT el (flﬂ'lé? WVE)

Topic:- General Urdu(L1GU)
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Correct Answer :-

11)

T‘L.:‘!‘/GJ,Z': ch)/ S Lazo| UF b Ll
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Correct Answer :-

b2 b’/{:‘"‘

12)

.‘L.L?J"J;C-é- L"'f./"ﬁzj: %.lfﬁ'ﬁfu’?._.iﬁ"df’ﬁu J;;;I
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Vsl
4.

Correct Answer :-

14) rb
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Ui i.f.:, /E’ & QJJJ
1.

Uls &5;!;7}( Q”I’J

2.

Uls i—/r/:-ﬂ;; = g"I’J
3

UUL[&("JEJ(Q’BJ

4.

Correct Answer :-

Uls i—fr/:-#;; = QJ’J
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4,
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4,
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Topic:- General Hindi(L2GH)

1)



T T 16T IrE) o,

ARy aren w9 wEret |

TP TR I ARY, A IS 901 ur |
feRTas & o1 et &, M <hem =)
T W SRV YR, AT URY TR |
YT et SR uRey, i arat It

TR e JaneR Aig, Td deid! Aarl
figRTa d 99 W4, Ag gt aren|

a1, S v Sund fa fog g et

mwwmmmwl
3t 37 vy geavl, diedl SHTSit I i |
URi 7 9Y RR FR, feast gon =T

IUYad Ui HY UGHR A YD T Uy BT 3TN aTgd:
- “URY’ Xeg BT 3 3 -

1. 91T (9T3)

2. fager

3. @I (T@13)

4. W

Correct Answer :-

2) W M IIH El o,

FARY aTe WA IrsR T |

TP TR I ARY, A IS a1 ur |
fe=Ta & o et &, M ehem =)
AT W SRV YR, GHROT URY TR |
YT et SRR uRey, i arat It

AR e JanaR g, Td deid! Al
figRras # 9 R4, Hig grel areni

&1, ST ved qund g fag o et
mwmmmmvﬁfl

el ITa Uy THOI, SIS STRATSH T AR |

HRi 1 7Y FRR AFR, Fag) goit srefi|

IUYe Ui B UGHR A YD Y Uy BT 3TN aTgd:
- ‘ST 31 TR B Sy § -

1. 390 & HIg e

2. STl I gRT

3. FHAT HT FRART

4. STel ol HT

Correct Answer :-

o AT HT foheTrT

3) WM WM A6 @] o,
Ry e w17 A @t _
TP TR a1 T, A 36 01 UT] |



fe=ra § o el #, Mg <hem )
ATH A ST U, FAROT U @t |
YTG ATt SRR U, i+ et aRait

R gire fiaraR W, Td Al AT
fieTa d O WA, Ag= gRe! aran|
ATafaT 1 g1 URY, UER FgE WS

et ¥ra wy gon, S SwATSh 7 dRi
Rt 1 9y ARER TR, fRas) gont sreR)

ITYT Ui B UgHR A9 YD T UY BT IR Ja133:
7= - Rast v SR Fen A T AId 8 ?

1. 3TH IS T

2. 8CT FT JIATAT gell

3. %S & GU gl

4. ST T TIHel glal

Correct Answer :-

4) WTH T A6 Tl o,

AR Aren wiA AR IGSh

ATH TR I AR, fd IS aa01 Ury |
fieRraT 9 o et #, Mifdq oo Ty
AT T GIAT URY, AT TR R |
YT ATt SR ur, i arat It
R gire faraR W, Ta Asil AT
fieTa d 99 R, Ag= gRe! aran|
[TafaT I AV URY, UgR g 13|
ST I gy gwur, St STl I diRi |
R 21 vy ARER ANR, feast gunt erefiRy|

I TR B UgH 1 UD ¢ Uy HT I ga13d:

U= - U Ue § IAfar &1 qui fBar man, sa1se 59 iR s § 2
1. RS

2.3eH

3. PRYRY

4. H1H

Correct Answer :-

5) TH M TIHR @l o,

ARYR aTe wiA arsR TGt |

ATHT G I T f4d IS A0 Uy |
fe=ra § o el #, Mg <hem |
TS H G0N U, AT TR W |
YT Tt SR U, i arat It



AR FTe fareR |y, e Isidl A
figRTa d 99 w4, Ag JRe! aren|

&1, a1 7ed JuId fag e g art
TIRAT I TV UTR, UgX gt 915 |
el ITa Uy GHOI, SIS STHATSH T AR |
Wi 1 9Y AR AR, fRast gont srehiRT

IUYa Ui HY UGHR A YD Y Uy BT 3TN aTgd:
WA - Ugd o W W i ufd e ua it 32

1. AT

2. e’

3. 9#1

4. 9&g

Correct Answer :-

6) T g I TEl oft,

FARY aTe WA arHR TS|

TP TER I AR, A IS 01 ury |
fe=Ta & o1 et &, M ehem |
AT W SRV YR, AT URY TR |
YT WATelt SR oy, i arat It
R gire faraR Wy, Ta dsid Arar|
fiezTa § 99 wR1a, Ae= gRet aran|
&1, a1 7ed JUId fag e g et
TIGRAT I GV UTR, UgR g 915 |
el ITa Uy THOI, SIS STHATSH T AR |
RT3 7Y AR AR, fRast goit s

IUYa Ui B UGHR 1A YD Y Uy BT 3TN aTgd:
U - TTH¥) P | HRT DI fod dher &1 @y =81 ghm 2
1. 9T &l T

2. #TFT T HT

5. g

4. 2T

Correct Answer :-

o ST T &7

7) W M 96 El o,

T e w14 A @

ATHT T I T (9 IS A0 TR |
fe=Ta & o1 et &, Mg <hem =)
D W SRV YR, AT URY TR |
YT et SR uRey, i arat I
R gire farar Wy, Ta I Arar|
figRTaa 9 99 W, Aig JRe! aren|



[TafT I AT URY, UgR g 151
aneft ¥ra vy gwaon, S swASh I R
Rt 71 9y FRER TR, fRas) gont sreiR

IUYad U=IIRI B UgH? -9 IR T UY HT IR Id133:
U - PU ST WY B ?
1. Shdel HIeN YROT HTel dTell

2. hdel IMA T dTell
3. $had NaFR 98 gu
4, 3ad gy

Correct Answer :-

o 3WIFd T

8) WTH T AT @l o,
ARYR aTen WA ArHR TGt |

TR IGR I AR (7 IS 01 TRy |
fe=Ta § o el &, M <fem |
ATH W SRV YR, AT URY TR |
YT et SR uRey, i arat It

R gire farar WR, Ta Asid AT
figRmas ® 99 WRa, Wi gral aren|

HiafaT I AT U, UER HwE A5l

3Tt 31 Y TRAOl, iUt STl A AR

URi 7 9Y RR ArR, feast gon =TI

S UeiY b1 Uge] A1 IR T U BT IR qa15a:

W - TR Ufet & W1, 0T R g9 ) faerelt et @2
1. INTSRT

2. gr T
3. UfAer
4, Yol

Correct Answer :-

9) TIH FgI TIHT @Y S,

ey dTem Tl AT @i

A EL a7 A AT 35 ST I
feras & For o #, AMfag e Iy
AR A SIWOT IR, YHEROT UG @I
HIT $7eTelt AR Iy, ofie] aTat aw

AR e darat |, o 35 A
hmw#a;rwmamﬁml

¥, 391 Agw Toma " T g 9wl
FiaRAT T GTHOr 9, TEX FFAr T



el T 9] &Twor, s FHATSH T AR
#RT T Wy PR AR, fRast gt ek

39T YGIIT Y YGH AR qF AT oA FT IR AR
W - FHFET R FT FAT AT ¢ 2

1. el ATSY

2. HARAT AT

3. 9idT @ SI8Y |ier

4. FEI TSy

Correct Answer :-

o HERAT FISY

10) T FFheT I @Y S,

e dren FEia TR T@ S

AT FE, a1 T, AT 35 Sxwor 9y
Rietas & For o A, Mg dem T
AR H EIHOT IR, GAIOT I, @I
H1T srereht Sy o, ofie] arat aw

AR Fere famaw i, e dsicl A
fietraer # 99 W, Ager AT aran|

Fa1, I Age qund fow R v aw
mummwmwl
mmwmﬁmu?ﬁm
#RT T ws) AT AWK, Ras gon sk

39T YGIIT P YGH A YF AT WA FT IR A
geeT - fiawaw ¥ -

1. plell 98

2. ofTell a&

3. Urel aE

4. & I

Correct Answer :-

o Olell g&F

11) T FgA T @ S,

e dTen FEia AT @i

TH FE, aT A AT 35 Gxwor o
s & For ot &, aMfdg ofrem e
W#WWWWW|
mmamﬁﬁm?hﬂmml

AR e dawat |, o d5ic A
fieras & O =XrE, Ager AT e

Fa1, 391 #gw qona " faw w9l
mnmmwmml
amﬁrmwmw,a—a’rma"rrr?hm
#RG T oy e A, Reast gon aneRd

39AFT IEHIY A TG A qF AT YT FT IR I3



veeT - R s &
1. hdel HIgeT dr

2. hael AUrr &

3. hdel ATH Hr

4. 3ed |

Correct Answer :-

o 3WIFd T

12) T FF I &Y S,

ey dTe Tl AT @i

A WEL a1 A AT 35 0T O
hﬂmﬂﬂmm#mﬁaaﬁmml
mﬁwmmmml
mma‘tawﬁfrqu,?h?f\aﬁml

AR #ere daat |, o d5d A
e & 99 M, Agar [T aren|

¥, 391 Agw qoma " T v 9l
mummmmml
mmwmw,a—mmnml
ARG T w3y PR A0R, s qon s

3UYFA TGIRN Y TGH ol IS AT WA FT 3R qaABA:
WS - GEIA UGH T AT FAT 82

1. gaTel

2. 5T

3. @31 drelr

4. PATSAT

Correct Answer :-

13) TH FFhe T @Y S,

e dTen FEia AT @i

AHT @, 90T T, AT 36 S@0r are|
Rietras & For o A, AMfg dem T
ATHY H GIHOT I, GATOT I, WA
H1T Srarelt S ared, e, amar |

AR e dawat |, o 35 A
fietraer & 99 WA, Ager AT aran|

Fa1, I Age 9o fow o v
mummwmaﬁl
mmwma—mmuml
whﬁvwagﬁ?wm,%as’rw’rmfﬁ

39T YGIIT P YGH A YF AT oA FT IR B!
Y - O FT TAIATH e A § 2

1.9



2. T
3. Hal
4, Qfgofy

Correct Answer :-

14) TOH e T TE@T S,

e dTen FEia AT @S

AHT @Y a0T T, fAd 36 ST@0T arey |
Rietras & For o A, Mg dem Ty
ATH F GIHOT I, GATOT I, @A
H1T Srarelt SN ared, e, amar |

AR e dawat |, o d5 A
fietraer & 99 WA, Ager FI aren|

Fa1, I Age 9o fow A v
mummmmml
mmwma—a’rmu?ﬁm
mﬁrrsragﬁnnm,%ag’rtrrrﬁmﬁﬁl

39T YGIIT P YGHF A YF AT ToA FT IR B
W - GAIOL Asq F 7 FAT 72

1. SIRTST BT

2. Wega

3. Qe

4. gqiq T

Correct Answer :-

15) TH T 96T & S,

PR e 7 T T@S|

AHT ] T A, AT 35 WoT are |
e & For ot &, ;Mg ofrem )
W#WWWWW|
mmawﬁfrm?hﬁmml

AR Fere dawat |, o 35 A
ﬁﬂﬁﬁ#ﬂﬁwmﬁmml

¥, 391 Agw qona " T w1 9l

WIGRAT T EIH0T IR, TeT FgFal TS|

el T 8] &Twor, dSA STHEeArSh T AN

#RT T 73] PR AnR, Rast gt aredR

3UYFA TSR Y IGH ol Y& AT WA FT 3R B
WeeT - St SR AR FAT-FAT FIAT ArEt ¥ 2

1. hael G AT

2. had ST AT

3. %ddl oltell IMAT



4. 39 AT

Correct Answer :-

o 3WITd T

16) &t &1 fpar g o afe yer™ &1 € ufvomy @ &t gout @1 fpar gam s oft 3wt faem ik Riem &1 & ufvomy
U RY | 0 F NA BH1, TR B, STh STEI, FHRF BT, TH A1 A T afe Ue-fore™ gt &1 ufeoma gt
o 9R B, Td 3 wawmaaa’raﬁmi%muﬁjﬁf&ﬁh ammfﬁa‘raﬁ?qa'qawﬁ%mﬁﬁaﬂﬁﬂwaﬂ%

mﬁagaé’rmrﬁﬁﬁlW%gﬂaaﬁa@mmﬁq—@ﬁmmﬁmﬁ@é?wagugﬁ?ﬁ%—“arr&ga,

TR TST BT HTH fhar Y W W1y Td-faars w3 gor 1 i, <am, geEr, ok ud @t s yeaer gfd 81 el
W gIv-8-gIv AR $I$ o 3TA WA 10 TEd & d Tg-wquTa &1 fbfaq o 39 78 vaa | dFar @ siftre aredt wi
T8 it S | oy 1Y 3, WA Aew ®, sy g3 M$paan | gwd & fawy A gafer Feaarars @ 7 ufvaed g

TR YT A IWTEs & fawa o |1 Feaararan 8, AT- d&Aun SR 39 I A $ o1 fh AR 9 gl e & 9 g

3T ¥ Fedv Ut fagrsar anfaa & &t <&t o wR off, @it & g & e frarare g 1 gom g9 ofs fan @
UE ITd TN PO P I 82 YT T I8 TORY AT a1 AE1 I U1 37 aredt 32

ST TR BT UgHR -1 Y& T Uy HT IR I3
- wIIISar o1 e g § 2

1. 3rEATATIASHAT

2. FgoIdT

3. AYEAR

4. 31ET

Correct Answer :-

o 3EATHTIASRAT

17) &t o1 frar g o afe uer &1 € uftomy B &t gout &1 frar gam ol oft 379t faem ok Rigm &1 € ufvomy
U AR 0 F M BB, AR B, STd STeAI, FHRFT BT, TH A1- A T g ve-Rre™ &t &1 ufkomy g
dl AR P, TG AR g3y ds g ot Aifee | uReg faféra, araeafal iR 76-7awi® Ryar ¥t gefta U=t we4

1A 9gd & HH QAT | APaar I g B B I BB IH-U SRATHIISB T fEaTg? T 98 g8 wed! - “emd g,

TMETRM ST 33T BT a1 ot WY Ty T=d-Ryars w3 gaw g e, =g, JeEr, ok of 9t snu yeer gfd 81 ot
TR Giv-8-gIv AR $IP S ITQ WA 311 T & d Tg-wquTa &1 fbfaq o 39 78 v | dar @ siftre aredt wi
T8 gt S | oy #13 R, Wpaen e ®, srumfaa g3 W$paan | gwd & favy A gafw Feaararg @ A ufaea 8

TR a1 | IEs & g § | Feaarar T 8, G- agaun SRT I N1 S $ <47 1 AR 9 R ifd & aram &

3T H FHad Ut fagrsar arfaa & &t &t o i o, @i & g & fAean firamare gaes 8 gue g9 ofs fean «n
g §1d R $A & I 82 YAl 1 J§ GR| fdgT 91 7l H ATHT & arelt 32

IUT T BT UgHT 1 U T Y HT 3TN Ia153:
TH- e A IuHt 9a1sy ?

1.9

2.99

3. 307

4. 3

Correct Answer :-

18) & 1 forar ganm o afe yer™ &1 € ufkomy @ &t goul &1 fpar gam ol oft 3wt faem ik Rigm &1 & ufvomy
U AR | TH & NS Bp1, AR B, ST STeI, FHF/ BT, gH A-1- q T Ffe Ug-fora gt &1 ufvomy gt
a 9R Blad, ¥od 3 Wﬁﬁﬁﬁﬂ%ﬂluﬁﬁf&m Tt o 75-Tewid Ryar Wit ool i A



I 954 & F AN | Tpaen A g B F¢ IR eI BIF-U SR@TUTRIFar fears? T 9 98 wedl - e g,
TIETRN FST 33T B fhar oY WY A1y T=ud-faarg s gor v Aifd, =, SR, ok o @t 3y waer gfd 817 uelt
TR gIv-8-gIv AR $IP S ITQ WA 311 T & d Tg-wauTg &1 fbfaeq o 39 78 v | dtar @ siftre aredt wi
T8 gt S| oy #13 A, Wpaen e ®, srumfaa g3 W$paan | gwd & fawy A gafw Feaarare @ A w8
R i & HEs & vy § | FEaarar §, G- aET0n SRT I IS J $F <41 fH A7 d@ gen i & a8
3T H Fed Ut fagrsan arfaa & &t &t fog wR o, @il & g & e framare gaes 8 gue g9 ofs fean «n
T8 9T TR A & Y 82 YT T I8 oY Frge1 a1 7gn 1 2T 37 aredt 82

SIS TR BT UgHR -1 Y T Y HT ST 153!
TRA- 3T & Tl T HeA1 FT R ?

1. 3y gl

2. faRresr gl

3. ge gl

4. fagker g

Correct Answer :-

- fagey gar

19) &t &1 frar g o afe yer™ &1 € ufvomy @ &t goul &1 fbar gam ol oft 3wt faem ik Rigm &1 & ufvomy
U AR | TH & NS Bh1, AR B, ST SIAI, FHRF BT, gH A1- q T Ffe Ug-fore gt &1 ufvomy gt
a 9R P, ¥@d 3 mawaas‘rw—ﬁml%muﬁﬁf&ﬁh it o 75-Tewid Ryar it ool i A

mﬁagazﬁmﬁﬁﬁlw%mﬁﬁmﬁmﬁﬂ-wﬁmwﬁmﬁlﬂ?wagugﬁ?ﬁ%—“srr&ga,

TN TST BT HTH fhar Y W A1y Td-faars w3 gor 1 i, <, aeEr, ok ud @t smu yeaer gfd 81 et
W gv-F-Fv AraR P ot 399 THL SR 7@ § @ AT-UTd 1 fhfag of 3 798 wad | W 3 eiftre amedt wit
T8 g S| o +fa A, wrdaan res A, srumfaa g8 Apden | guid & v A gafer seaarard st A uivced g

R i 3 s & v § | FeaararT €, GAu- aeTon SRT I I A $F <41 fH A7 9@ gen i & a8

3T A Fgwdv U fagar anfaa 7 &) <t o = off, @t & g & Frear framare gaex € g g9t ofs foan «n
Ig 910 TN $A & 3T 9?7 YAl FT I8 TN fagwT a1 Hg<l $Y UHT 3 aTeft 32

IUY TR FT YgHR 17 U T UY BT I Iq133:
W= - Toul 31 e 1 sFfert uRoma @ 2

1. shdel IRT AT

2. hdel 9H & el el

3. hael HJST FI gl Flel

4. 39 @Y

Correct Answer :-

o 3WIFd T

20) & &1 faran gam oM afe uem™ o1 € ufkomy B @t gout @1 fosar gam oref oft 3=t faem ok Rigm &1 € ufvomy

U AR 0 F MNA Bh1, ARG B, STh STEI, FHRFT BT, TH A1- A T afe Ue-fore™ &t &1 ufvomy gt
a’mﬁaﬂﬁﬁ @ 3R grBwrarde g o aife| Wy fafda, ammf‘uﬁﬁqaqawﬁ%ﬁmﬁwﬂa?ﬂaﬂwaﬂﬁ
aﬁa‘gaé’rmrﬁlﬁﬁlWﬁgﬂaaﬁa@mmaﬁmﬁmtrrﬁwﬁmé?wagugﬁ?ﬁ%—“arr&ga,
TMTETRN TST 3BT HTH fhar s W w1y Td-faars w3 gor 1 i, <, geEr, ok ud @Y smu weaer gfd 81 uelt
W FIv-F-giv AR X S 399 T SR T § @ AT-UTd 1 fbfae of 3 981 wad | War 3 eiftre amedt wit
T8 it S | oy +fY A, Wgpaan e |, srumfaa g3 Wdpaan A gwd & fawy A gafer Feaarard @ A ufraea g
TR a1 & IEs & fwa § /1 FEaarar T 8, G- aEgHun SR I 6T S $§ o7 6 A7 9 FRR ¢ifa & ara- &
T A e U fagresar wifda &7 &t <t for o oft, @il & g @ e Rrarare g € guA g3t ot faan «&n
g 919 TR $&@ & 3T 82 31¥al FIT Jg gRoR} fIg=T a1 Hg<l H) =T 3 areft 2

IuYad TN DI UGHR AR IS Y WY BT IR qa13:
UL - ‘$@’ BT Tiaar] WUsg FT 81 @ ?



1. 98T
2. Fed
Q9
A GE
9

4, 9Rar

Correct Answer :-

21) & &1 forar gan o afg wer &1 €Y uivomy @ &t gout @1 fbar gam o oft 3wt faen ik fRigm &1 & ufvomy

AT AT T &b NA BH1, RGN 1, STH SIAA], FIG7 BT, T A1- T 9 g-fRra= &t &1 ufiomy g
a’mﬁaﬂﬁﬁ ¥R 3R grewrerg e € St Aifey | weg fafde, Wf‘u?ﬁaﬁ?qa'qm?ﬁ%mﬁvﬁa?ﬂaﬂwaﬂﬁ
mﬁmﬁmﬁaﬁlwﬁ B Hg IR eI BIA- SR@TUTRIF T fEars? 1 98 98 Fedt - am:fga,
mmlammmﬁmvhﬁ%wuwa‘ faarg ®3& e U1 Hifa, =g, e, iR o #Y ey woer gt 31 uelt
uvﬁv—#—akmm%vhmﬂaﬁ&mmﬂ%%m-wmmﬁﬁmﬂmaﬁwﬁl@ﬁm%art‘wwé’rwh
T8 it S | oy 1Y A, Wgpaaen Aew ®, srumfa g3 Wdpaan A gwd & fawy A gafwr Feaarare @ 7 ufvaea g
TR a1 & I9Es & fwa § /T FEaarar T 8, G- agHun SRT I N1 S $§ o7 6 A 9 R ifa & qra- &
3T & Fgh U fagar anfaa 7 &1 <t fora w off, @ & 3@ & e framare gaex € gaa g9 ofs faan &
% 910 GO T & I g7 3YaT T I§ JFOTRT g1 a1 71 ST THT 3 arelt 82

ST TR BT UgHR 1 IS T Uy BT IR 9a154:
U - R T A areri § 2

1. far & @A

2. 9gd

3. RRfea

4. rEr

Correct Answer :-

22) & &1 farar gam o afe uem™ o1 € uivomy 2 @t gewt &1 fbar gam aref oft 3=t faemm ik Rigm &1 € ufvomy
AT ALY | T0 F MA BT, RN BT, STH ST, FHFI B, T A1- A T afe uegA-Rra= &1 ufvomy gt
al IR Piaw, 7B AR mﬁaﬁvﬁmmﬁm R 6 7E-Tewid Ryar 0t gdia U= A

I 954 & F AN | Tpaen A gHd B F IR eI BIF-U SRATUTRIF T fETg? Fu1 98 98 wedl - e g,

TIETRN FST 33T B fhar oY WY A1y T=ud-faarg s gor vl Aifq, <, g, ok o @t 3y waer gfd 817 uelt
TR gIv-8-gIv @R $IP S ITQ T 311 T & d Ag-TauTg &1 fbfaeq o 319 76 v | dar @ siftre aredt wi
T8 gt S | oy #1Y A, WA A ®, srumifa g3 Wdpaan | gwd & favy A gafw Feaarare @ A ufvaed g

R i & s & v § | FEaarar §, G- aETon SRT I IS J $ <47 5 A7 d@ gen ¢ife & a8

3T A Fgd U faxsar arfaa 7 &1 <t o w off, @it & g & e firamare gaes € gu g9t ofs foan «n
T8 9T TR A b AU €2 YT T I8 oI Farge1 a1 7gn 1 2T 37 aredt 82

SRS TR BT UgHR -1 Y T UY HT 3TN Ia153:
T - U T BT IR R ?

1.3 § P

2. AR T AT

3. A AT

4. AT HT EIHTT

Correct Answer :-

o AR AT



23) & &1 foran gam o afe ugm™ o1 € ufkony 2 @t gout @1 fsar gam oref oft 379t faem ok Riem &1 € ufvomy
U AR 0 F MA BH1, AR B, STd STEAI, FHRFT BT, TH A1- A T Ffe ve-fore™ &t &1 ufeomy gt
Al R Pid, TGd 3R FTSIMeY 66 gt -1 arfeg | W=y fafare, ammf‘u?ﬁsﬁvqa'qawﬁ?mﬁ?ﬁa?ﬁﬁﬂwm

aﬁa‘gaé’tmﬁa?rlWﬁgﬁiﬁaﬁm—gwwaﬁmﬁrmmnﬁwﬁ@ﬁ?wagugﬁ?ﬁ%—“arr&ga,

TMTETRN TST 3BT HTH fhar Y W /1Y Td-faars w3 gor 1 i, =, geEr, o ud @Y smu weaer gfd 81 uelt
W FIv-F-gv AR & S 399 T SR T § @ AT-TUTd 1 fbfae of 3 981 waad | W 3 siftre amedt wit
T8 it S | oy +1Y A, Wgpaen e ®, srumfaa g3 Idpaan | gwd & fawy A gafwr Feaarare @ A uRaea g

TR a1 & IEs & fwa & ’ FEaarar T 8, G- agaun SRT I ST A $§ <41 5 A7 9 R ifd & aran &

T A e U fagresar wifda &7 &t <t for v oft, @il & g @ e Ryarare gAe? € gue g3 Sts fan wn
g 919 R $d@ & 3T 82 3(¥al FI1 Jg gReR} fIgT a1 Tg<n H =T 3 areft 32

ST TR BT UgHR -1 IS T Uy BT IR 9a154:
U - AGHadm A g&id B BePR I ?

1. 9oy fhar ar

2. TEATfARAT Tehe 1 AT

3. TQATATTAhAT Wehe T T

4. 99 far ar

Correct Answer :-

o TITATIIRAT Yehe a1 oY

24) &t &1 foran gan o afe ugm™ o1 € ulkomy 2 @t gowt &1 fbar gam aref oft 379t faem ok Rigm &1 & ufvomy
U AR 9 F M BH1, AR B, STd STEHI, FHRFT BT, TH A1 A T g ve-fre™ &t &1 ufkomy gt
al IR P, T AR gy ds g ot Aifgy | uReg faféra, araaafial iR 76-7awid Ryar ¥t gefta U=t we4

1A 9gd & HH QAT | AP aar 3 g B B I BB IH-U SRATHIIB T feaTg? F1 98 g8 wed! - “emd g,

TMETRM FST 33T BT a1 o A Ty T=d-fyars w3 gaw g e, =g, JeEr, ok of 3t snu yeer gfd 81 ot
W gIv-8-gIv AR $IP S 3TQ WA 311 T & d Tg-wquTa &1 fbfaq o 3= 78 v | dar @ siftre aredt it
T8 gt S | oy #13 A, Wpaen e ®, sumfaa g3 Wdpaan | gwd & fawy A gafw Feaararg @ A uRaea g

TR a1 | IEs & fwa § O Feaargr T 8, G- agaun SRT I N1 S F <47 $ AR 9 R ifd & aram &

3T H FHaH Ut fagrsar arfaa & &t &t o wR o, @i & g & fAean framare gaes 8 gue g9 ofs fean «n
g 91d R $& & I 82 YAl 1 J§ GRT fdgT a1 7T H THT & arelt 32

IUT TR HT UgHT 1 U T Y HT 3T Ia153:
T - T A A g ?

1. 991

2. STE & AT

3. gfdd &1 A1

4. Bl &l oTH

Correct Answer :-

o g

25) &y &1 farar gan o afe uem™ &1 €Y uivomy & @ gewt @1 fbar gam ol oft 3wt faem ik g &1 & ufvomy
U AR | TH F NS Bh1, TREAT B, ST STAHI, FHF BT, gH A1- T Ffe yg-fora gt &1 ufvomy gt
a‘mﬁaﬂaﬁ @d 3R wawazs‘rm-—ﬁmi%muﬁmﬁh Wﬁﬁaﬁ?qaq?wﬁ%mﬁvﬁa?ﬂﬁﬂmaﬂﬁ
m@ragazﬁmﬁaﬁlwﬁ P Hg IR eI - AR@TUTRIF T fears? a1 98 g8 wedt - arrd’ga,
mlwmmﬁmwﬁﬁ%wuwﬁ faare v e Y| Y, =g, geER, iR o Bt 3y ywer gfd 81 uelt
wW—#—WWW@IMQ@Imr@%%’%uﬁw-wmm%ﬁﬁmaﬂaﬁwﬁlwﬁm@rarf%ﬁ?msé’rﬁﬁ
T8 gt S | oy 19 3, Wgaan Aes ®, sy §3 Wdpaan 9 gwd & fawy A gafer Feaarrs I 7 ufvaed g
TR Har | s & g & w1 Feaargrn 8, G- dgHun SRT I ST H $ AT 6 A7 9 R St F qra €



3T H Fad Ut fagrsar arfaa & &t &t o iR o, @i & g & fAean firamare g 8 gue g9 ofs fean «n
g 91d R $A & I 82 YAl 1 J§ GRRT fdgT a1 7T HI THT & arelt 32

I TR HT UgHT 1 U T Y HT 3T I3
TR - TREAT | a3 ?

138 IS e

2. AT geaT

3. 99 &edm

4, ARY gcar

Correct Answer :-

26) f&aat &1 foran gom 3 afe wer &1 € ukomw € ot gout &1 farar gam M o+ 39t faem oiv Rrem &1 € wRomm
U AR T0 F M Bh1, AR B, ST STeA1, FHRFT BT, gH A1- A T g ve-Rre &t &1 ufvomy gt
@ IR BIA, ¥ d MR FrEwrarvde g St A1t W fafdra, araeafial sk 75-7ewid fyar Rt gefta = s

I 954 & F AN | Tpaen A gHd B F¢ IR eI BIH-U SRATUTRIF T fErg? T 98 98 wedl fr- “emd g,

TN TST HBT HTH fHar Y W A1y Td-faars sva gor 1) i, am, seER, ok ud @t 3mu yeaer gfd 81 uat
TR gIv-8-gIv AR $IP S ITQ T 311 T & d Tge-wauTg &1 fbfaq o 39 78 v | dar @ siftre aredt wi
T8 gt S| oy #1Y }, Wpaen e ®, srumfaa g3 W$aan | gwd & favy A gafw Feaarare @ A ufaea g
R T & s & v § | FEaarar §, GHu- aET0n SRT I IS J $F <41 fH A7 9@ gen i & a8

3T § FHad Ut fagrsan arfaa & &t &t o wR o, @il & g & e firamare gaes 8 gue g9 ofs fean «n
Tg 9T TR A & Y 82 YT T I8 oY Farge1 a1 7gn &1 2T 37 areft 82

I TR BT UgHR -1 Y T Y HT SR I8!

W= - T faTe @ At § 2

1. a-aY 3TF 7 Wl T g B

2. q-AY H A R FoAd T AT Al G5l &

3. aR-aY I YA ATAT-TAAT T AT el Tsell Bl

4, T-AY P I HAAT-TIAT T 37T ALE oFell g5t Bl

Correct Answer :-

o GU-GY P HYT ATA-TAAT T ITAT AGT =il ISl &

27) & &1 faran ganm o afe ugm™ o1 € uivomy 2 @t gowt &1 fbar g aref oft I=at faem ok Rigm &1 € ufvomy
U AR 0 F M Bh1, AR B, STd STeAI, FHRFT BT, TH A1- A T I ve-Rre™ &t &1 ufvomy gt
al AR Pia, T AR gy as g St Aifey | Uy fférat, araeafy«l iR 76-7awid Ryar ¥t gefta U=t we4

I 954 & H AN | Tpaen A gHd B Hg 9T eI BIH-U SRATUTRIF AT fETg? F1 98 98 wedl fr- “amd g,

TMETRM FST 33T BT a1 o WY Ty T=d-fyars w3 gaw mg) i, =g, Jemr, ok of 9t snu yeer gfd 81 ot
TR gIv-8-gIv AR $IP S ITQ T 311 T & F Tge-wquTg &1 fbfaeq o 39 78 v | dar @ siftre aredt wi
T8 gt S| oy #13 R, Wpaan e ®, srumfaa g3 Idpdan | gwd & favy A gafw Feaarare @ A uRaea g
TR a1 A IEs & g § O Feaergr T 8, G- agaun SRT I N1 S F <47 1 AR 9 g it & aram &

3T § FHad Ut fagrsar arfaa & &t &t o iR off, @i & g & fAean firarare g 8 gue g9 ofs fean «n
Tg 9T TR A & Y 82 YT T I8 oY Fargen a1 7gn &1 2T 37 aredt 82

I TR BT UgHR -1 Y T Y HT 3TN Ia153:
U - Tl BT 99T T §HIT ?

1. 397 ¥ FIg e

2. AT



3. Eica
4. fexar

Correct Answer :-

28) &t &1 faran g o afe ugm™ o1 € uivomy 2 @t gowt &1 fbar gam aref oft 379t faem ok Rigm &1 € ufvomy
TS ALY | T0 & M BT, RN BT, STH ST, FHFI B, T A1- A T fg eg-Rora=t € &1 ufvomy gt
A AR BIdw, TGd 3R Frewrarv ag g1 | aiee | wR=g fafdrad, araeafidl ofR 7a-7awid faar Ut gefia 91 B

mﬁa‘gaiﬁmﬁaﬁlW%wﬁﬁwwﬁqwﬂmuﬁwﬁmﬁ?wa@wm%— "3 g,

TTETEN ST 3BT BIH fhaT St Y 1Y Td-faare a3 gas U1 -, U, YeER, 3R« $1 ey waar gff 81 uelt
TR giv-8-gIv AR $IP S 3TQ WA 1= T & F Ige-wquta &1 fbfaq o 3= 78 v | dfar @ siftre aredt wi
et gt 15| o B 7, wrgpeten Are® 4, srufd g8 whaen & goid & fawa A gater seearare S 3w g

TR a1 | IEs & fwa § ®r Feaarar T 8, G- agaun SRT I ST S $ <47 [ A 9 R ifd & qran &

3T H Fad Ut fagrsar arfaa & &t &t o i o, @i & g & fAear firamare gaes 8 gue g9 ofs fean «n
g 91d R $A & I 82 YAl 1 J§ GRRT fdgT a1 7T HI THT & arelt 32

ST TR BT UgH -1 TS TT UY BT IR Ia154:

U - fPad ftre et vl sH TaR AT @ 2

1. gyar

2. 3fF e

3. Al

4, TAERT

Correct Answer :-

29) & &1 forar gam e afg uem™ &1 €Y uivony & @ gowt @1 fbar gam aref oft IFat faem ik g &1 & ufvomy
U AT | TH & NS Bh1, AR B, ST STeI, FHF/ BT, gH A1- q I Ffe Ug-fera gt &1 ufkomy gt
o 9R B, ¥@d 3 mawzfaas‘rm'—ﬁml%muﬁﬁf&ﬁh Tt o 75-Tewiid Ryar Wit ool i A
mﬁagazﬁmﬁaﬁlw%wﬁﬁmﬁmﬁqwﬁmuﬁmmvwwwm%— arrcfga,
TR TST BT HTH fHar Y W W1y Td-faars w3 gor 1 i, =am, aeER, ok ud @t smu yeaer gfd 81 et
wW#WWWﬁmﬁmm%%mwmmmmmﬁwﬁlwﬂmﬁmwsﬂﬁﬁ
To1 gt 15| Fore 3 7, wrgpeen Are® 4, Sruifa g8 Wdhaen & god & fawa # gafer sewarrs S 3w g
TR Har | s & g & w1 Feaargrn 8, Y- agaun SRT I ST S $ <47 6 AR 9 R St F g &
AT & paa? U= Fagrear arfea ¢ & R e w ff, A & 7@ @ Freen firamae ge € gua 99 oS faan &
UE ITd RN PO P IIRY 82 YT T I8 TORY g a1 HE1 ST THT 37 aredt 32

ST TR BT UGH -1 I T UY BT IR Ia184:

T — R § P R g 2

1. 3fe @i

2. guT Gy

3. fawer @fer

4. & g@fr
Correct Answer :-

« gur g



ot o v gam ol afe ugm &1 €t ufkuma @ &Y gol &1 famar gam s off Iwast faem oiv Riem &1 & ufvoma
ST AR | 9 & M BT, RN BT, ST ST, FHF B, T A1- A I af ue-fora=t g1 &1 ufvomy gt
o 9R B, Td 3 wawaas‘rw—ﬁmi%muﬁﬁf&rwﬁ ammﬁa‘raﬁ?qa'qawﬁ%mﬁﬁa?ﬂaﬂmaﬂﬁ
aﬁa'g‘atﬁmﬁaﬁlWﬁmﬁﬂmmﬁq—%ﬁmmﬁwﬁﬁﬁ?wagugﬁ?ﬁ%—“arr&ga,
TMTETRN FST 3BT HTH fhar Y W w1y Td-faars w3 gor 11 i, <am, geEr, ok ud @t smu geaer gfd 81 el
W gv-F-gv AR ¥ S 399 THL SR v § @ Ag-UTd &1 fbfaeq of 3 181 waa | War 3 siftre amedt wit
T8 it S | oy 13 3, Wgpaen Aew ®, srumfa g3 Wdpaan A gwd & fawy A gafwr Feaarre @ 7 ufvaea g
TR a1 & IEs & fwa § /1 FEaarar T 8, G- aEgHun SRT I 6T S $§ o1 6 A 9 R ifa & ara- &
3T H Feh U fag[ar arfaa 7 &1 4t foa w i, A & 9@ 9 fear framare gaex § gaa g9 ofs faan &
IE ITd N T & I 82 YT T I8 TR AT a1 Ag1 I 2T 37 aredt 32

I TR BT UgHT 1A U T Y HT 3T Ia133:

U — TR B o 'wfaar S aags s A pA A A g 2
1. ATeH

2. 3901

3. Sglell

4. Hiddar

Correct Answer :-

Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /

freY 9erel &1 WTYET ueica 13.6 § 31X sHET radeT 20 H 1 sHHT geaAT fhdeT &2
1.272g / AqTH

2.2.72g /| AH

3.272g / AH

4.0.06g / ATH

Correct Answer :-



The current—voltage graph for two conductors ‘P" and ‘Q’ are shown below. Select the correct

statement from the following options. /

ar garers PR Q&% T Rega dees dnw A g v §) St
faeredl & T FUT T TAT FII

Current Q

Voltage

1. For the same value of voltage, the current through the conductor Q is more than the current through the conductor P. /

diecal & AT AT & ﬁ'@ﬁa}l’?—r S gdTelsh Q¥ gl TSIl & , ATl P ElTrRﬁ CIEI
faegd @ 3ifts gl ¢ |

2. The resistance of the conductor P is equal to the resistance of the conductor Q. /

gTeish P T TRIE Falelh Q& Y & AR g

3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
garersh PN a0y Faresh QF IRy & 31w &

4. The resistance of the conductor P is less than the resistance of the conductor Q. /
FATA® P P YR JaTad Q & UfRly I &4 3

Correct Answer :-

« The resistance of the conductor P is less than the resistance of the conductor Q. /

AP P T ARy Garas Q & Wfokiy § &1 B

3)
Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction

of application of the force as shown in the given figure. Find the work done. /

10N & T oel, U T W FRd § 30 a8 Bu ¢ =& & 3618R, gof & oE) gl & e
A 5 Ay g T § farariad giar §1 fhaer $rf g3 Ad H

l F=10N

I g

5=5m

1.-50J

2.25])



3.501J
4.0J

Correct Answer :-

« 0J

4) Liquids in spherical containers should be placed i MeTeR gl & 3@ @ wzf Gal
T S\ 91feg |

1. near a water source in the lab / JZNITRATAT H TTeAl & Teh Hld & 91
2. near the window / @I & AT

3.indark / 3T H

4.in open shelves / gail S{eTATRAT H

Correct Answer :-

. indark / 39X H

5) What are the food requirements of dairy animals? /
38 Tt F WIGT ITTRIFATC FAT 82
1. Cattle need balanced rations containing all nutrients in proportionate amount. /

HARIAT T 3T AT H Tl GIweh dedl aTed HJToIdd AT T HTaRTehaTl glcll o

2. Cattle require appropriate amount of food to sustain life needs. /

HARAT &l Shaal T ITaRTHAHT T QU A & AT ST Y IIGFA AT S Gl gieht
gl

3. Cattle are fed with plenty of green grass as well as dried fodder. /
FAfRIAT T 3T gL U & WY & @ AR 7 Werdr S gl

4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

ARG & #folel A AT °RT, S cA9H §I  WeR g AT gY-3MER FTH BIgR HH giar g
Afhad 3T 3Ta TR & WA T 3T 9¥SH dcd 81d gl

Correct Answer :-

« Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

ARG & ol & Hel IRT, S 9 & § WER & AT GR-3BR S8 Brger A g ©
AfFT 5T 3za TR F NEF T 3T 9N dcd g &l

6) The cracks inside a metal block can be detected with the help of:/

4T seid & HaRes RN A FEIar & FaHT gar Fomar 1 §Far ¢



1. Visible light / €T HehIm

2. Infrasonic sound / 37a%eg ¢afer
3. Audible sound / #eg &afel

4. Ultra sound / 93T &afar

Correct Answer :-

« Ultra sound / 9¥%eT &afeT

7) What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the
same end is placed over a candle flame? /

FIT 11 3P FRS A Th BIE GET, TF o dlg I B8 & T SR W FHART 9 & St §
3 3 B3 & W BN W &F AT A ot F T @ AT §?

1. Only some portions of the paper will burn off. /
haol HETST & FO G STol ST |
2. The paper will not burn off since iron is a good conductor. /

PRI el STeld FIifeh 3RRA Ush 3TST [HdEs gl

3. The paper will burn off since it is an insulator. /

FETST ST ST Fifeh g [aTaes gl

4. The flame of the candle will put off. /

AT HT ol g Swe|

Correct Answer :-

« The paper will not burn off since iron is a good conductor. /

PRI el STeld FIifeh 3RRA Ush 3TST [HdEs gl

8) At the top of the mountain the atmospheric pressure is: /

Tes & ¥ W, Frareaoiy gae e IgER g &

1. Less than the pressure at the sea level / 14?1'9\’ dd W gald § HF

2. Equal to the pressure at the sea level / Q:Dia dd 9 dd & S{IeX

3. Equal to zero / [ & ST

4. Greater than the pressure at the sea level / HHG defl 9 G&ld T 38

Correct Answer :-

« Less than the pressure at the sea level / HHg defl 9T G&ld q &

9) Haemophilia and colour blindness are diseases. /

gAfsfoET il quiferar T §



1. acquired / 3atfaia

2. communicable / HshTH®

3. genetic disorders / 3-11?:|;c|f%\17=ﬁ [GETES
4. non communicable / 3TThIFS

Correct Answer :-

« genetic disorders / 3-11@31’3]33 IGEIES

10) polar bear survives in the very cold weather conditions because of: /
e s T haw st # Rufy F st v Tear 3, i
1. Thick layer of fat under skin / ca@dT & S TAT ST AT G & HROT

2. Abundant fish / 9X AGT

3. Oversize / faemersrr

4. Ice covered land / % & &1 THT

Correct Answer :-

« Thick layer of fat under skin / cadI % A gaT HT A WA F HROT

11) Convert: 15m/s into km/h /
15m/s Y km/h H{ TAART faT |
1. 54km/h / 54 TehcltHTey/EeT

2. 27km/h / 27 TRel#ECY/ECT

3. 18km/h / 18 Teheli#cy/Eer

4. 36km/h / 36 TerellHTET/EET

Correct Answer :-

« 54km/h /54 fRedey/ger

12) which of the following is not advisable for controlling the noise pollution? /
frfaf@d & ¥ F1 @iy yguor A FERT F@ & e 3R a8
1. The TV and the music systems should be run at low volume. /

&rar 3R E@la d (RBee#) &t A 3MarsT #§ =T arfgu|
2. The least number of trees should be planted around the buildings./

T & IRT 3R FF  FH US 9T AT T80
3. Automobile horns should be minimized at the residential area./

AT 81T H ACIAGS glel &l & T Ha fhdl ST ATRT|



4. Industrial units should be set up away from the residential area./
i@ geprsal @ AT &7 & g T foham SIer =migu|

Correct Answer :-

e The least number of trees should be planted around the buildings./

A=Al & IRI 3R HA F A U3 9T Al A1

13) For a normal eye, the far point and near point are and respectively./

TH AT A7 F AT, gy =t Rg sk fAwe e g wae 3R el

1. infinite , 25 cm / 3Te7d, 25 AT

2. infinite , zero / 3To1d, I
3. 45cm 25 cm / 45 QT 25 AT
4.25cm, 10 cm / 25 AT, 10 9HT

Correct Answer :-
« infinite, 25 cm / 37ed, 25 AT

14) we feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

AFA F goF W & FI3T A 7 HUF AT AgHH A ¢ FifH M@ W & F93 &

1. Light coloured cloths absorbs more heat radiation/%o& T & EFQ?, 0% Fva [fEOT 1 3@a™a
N gl

2. Light coloured cloths absorbs less heat radiation /3«3’» T & m, 7 37 JAfeTor ot 3@n®a sta
gl

3. Dark coloured cloths radiate more heat radiation /?I%'Q' T & Hus s F°H ﬁﬁWUT, CIEEGETG
gl

4. Light coloured cloths absorbs more moisture / Beb 1T & HUS 3P TH! BT TN B B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation /6(»$ T & m‘s‘, FH 37 Jfetor o1 3@n®a sa
gl

15) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an

example of motivation / Tfa F YYHA TIA yrtd A & faw, afora
e & gAAT100 H & 100 31 fAed &1 9 WO &T TF 30T gl
1. Extrinsic / dTEd

2. power-based / QTFd-3TUTRT

3. fear-based / 3TI-3TETRA



4. Competitive / Ifcarafr

Correct Answer :-
« Extrinsic / dT¢d

16) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two
equal pieces and combined in parallel and then it is connected to the same supply. The power dissipation in
this case is ‘P,’. Find Py : P,./

UF dR B A9 220V & gt F 1 I1ar § a9 3897 Qg sqeqw Py’ @ § T AR H
ar aUET THST A FIET AT § A FHEG T & AHF 58 AW 3Mqfet § ST AT T OIH
feufa F Rega sgeaw Py @t 81 Py : P, AT FI

1.2:1
2.3:1
3.1:2
4. 1:4

Correct Answer :-

e 1:4

17) To save maximum energy it is advisable to use: /

FAFaA ST qo= F v fFasr suAer F@r 3R gam=r s
1. CFL lamps in our house / AR 8X H HITHU ofT

2. Filament lamps in our house / AR T & o ofFq (agr o)

3. Fluorescent lamps in our house / §AR & H gfadia o

4. LED lamps in our house / AR &Y & TeIsal o

Correct Answer :-

« LED lamps in our house / AR X H Telssl ofq

18) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage
of solution. /

T g #, 85 mL el 3R 15 mL e a1 &1 e & AEr fderd ¥ A= i o
Cd|

1.22.4%

2.15%

3.17.6%

4. 85%

Correct Answer :-



19) Identify the correct electronic configuration of calcium /
Hfcwwd & T sAFeiae Ream A ggaaT F)
1.2,8,8,2

2.2.8,5

3.2,8,8,1

4.2.8,7

Correct Answer :-

20) The number of oxygen atoms present in 1 mole of Na,CO3. 10H,0 /
N2,CO;. 10H,0 & U IHAN] F Jifawisrer WA i e Aleg &
1 13.02 X 10* oxygen atoms/ 13.02 X 1023 GMWW

2 6.022 X 102 oxygen atoms/ 6.022 X 1023 mm

5 783X 10 oxygen atoms - g3y 1024 sifeRf TRAT]

4 463X 10 oxygen ALoms | 4 ey 1022 aifeRtio TRET]

Correct Answer :-

24 -
. 783X 10%oxygen atoms 5 o3 y 1024 3ifqefier TR

21) The process used to separate bacteria from water is /
aret & dFART FY Irerer FE A wfEar §

1. Decantation / feEROT

2. Crystallisation / Tsh&CTehTOT

3. Evaporation / arsqeT

4. Filtration / faedeaT

Correct Answer :-

« Filtration / A¥deaT

22) The pressure acting on a given area is 125N/m2.If the force applied is 2500N then the area on which
the force applied is : /

et T 71T &9 W FRRT g9 125N/m? &1 I e m oo 2500N § & a7 5 9T aer o
IAT R |



1. 200m2 / 200#2
2.2m2 / 2 #H?
3.20m? / 20 #H?

4.20cm? / 20 TH2
Correct Answer :-

« 20m2 / 20 2

23) About 5g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating
smelling gas (Y). The gas (Y) is collected in a Gas jar and is shaken well with a little water when colourless
Sulphurous acid (Z) is formed. What is the solid (X) and the gas (Y)? /

diet T & B 37T (X) FT eereier 5 e for amar § 3k et fear e @1 3@ g o areh
s AT (Y) 3T FaT &1 AW (Y) # v A IR F v fFar sar § 3k aler 9l sree
e srar ¥ a9 e gewRw s (2) 1 WA gar #1 3 (X) vE A (Y) F=

1.X = S, &Y =503
2.X = P4&Y = Py0s
3.X = Sg&Y = S0,
4.X = S4&Y = SO3

Correct Answer :-

« X = Sg&Y =S50,

24) Qut of the following given materials, which one will you prefer to make the handle of an electric
kettle? /

frafaf@a & 1§ A F F, 37 FAN vF gAFCEH Fdell FT 5 TAAT GHE HLA?
1. Tungsten / TITECT

2. Bakelite / SehellS

3. Copper / PR
4. Aluminium / TgfAF-Yg

Correct Answer :-

« Bakelite / Sohellse

25) A weak acid among the following is: /
feeT & @ vF gqaa I &

1. Acetic acid / Tfafee 3Fa

2. Hydrochloric acid / 8T38IaellReh 37Fcl



3. Nitric acid / AT3f¢eh 37FeT
4, Sulphuric acid / W{ﬁ% 3HFoT

Correct Answer :-

« Acetic acid / Tfafes 31Far

26) Type of the soil is decided by the /

T F1 YHR et garr a7 fmar o @

1. Amount of humus in it / 38H W@Tg $HT AT

2. Average size of the soil particles / FeT & Ul F AT 3THR
3. Porosity of the soil. / Hal T IRTHIRT

4. Amount of microorganisms in it / I ﬁ&ﬂ\‘rﬁﬁ Cak:IEl

Correct Answer :-

« Average size of the soil particles / #cT % U & 3Ed R

27) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /

aca P’ # WA wE&Ar 19 ¢ Rfaf@a #F ¥ woa wyw &

1. The valency of the element is 1 / dca T FAIThT 1 gl
2. Element ‘P’ is a non-metal. / dcd ‘P” Teh 374T] gl

3. Element ‘P’ belongs to group I / dcd 'P' §HE 1 & AT T g
4. Element ‘P’ belongs to 4™ period / dcd ‘P’ WY 3ad & 3idsTa 37aT &l

Correct Answer :-

o Element ‘P’ is a non-metal. / ded ‘P’ Ueh 3-T'ETI§ gl

28) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /

iz e O & J@d, SET 3aIfe & foT 3UAT Fyd & 3uH @ee 3 ot Fr wiaeraar
fraett &2

1. 50% Carbon & 50% Lead. / 50% @TeleT Td 50% efarm|
2. 100% Carbon & 0% Lead. / 100% e Td 0% <frem|
3. 0% Carbon & 100% Lead / 0% el Td 100% <frem|
4. 75% Carbon & 25% Lead. / 75% @IeeT Td 25% ofrem|

Correct Answer :-

« 100% Carbon & 0% Lead. / 100% ahTssT Td 0% 2M2M|



29) Which one of the following factors affects the quality of honey produced? /

farafaf@d #& @ @ FRF @ A A Joraer yenfaa gt &2

1. Number of worker bees which collect the nectar / I5F &l HPIG FHCST Hel dlel HalgT H%?{%@'Zﬁ Hr
e

2. None of the above / 3TRIFd H T IS AT
3. Queen bee and Drones / AT H%ﬂ?@ﬁ' IR T H‘?;P:I?@'

4. Flowers available to the bees for nectar / Hﬂﬂ%@'ﬂ’f & ARG %T;f 3TclsY qu T

Correct Answer :-

» Flowers available to the bees for nectar / HW & ARG ?@r 39elsy Iv7 WX
30) Which physical quantity has the unit N/kg? /

fFa siifas af¥r i s N/kg 82

1. Velocity / @t

2. Acceleration / calor

3. Speed / =TS

4. Force / o

Correct Answer :-

» Acceleration / TaoT

31) Two of the components of ecosystem mentioned below are abiotic. Identify them.
Inorganic nutrients, herbivores, decomposers, climatic factors, forests /

A sfeaf@a aRfFufadr a7 & @ gew IEET 71 308 wEafaw

IolT NYF deq, AFERT , HTUCHRY, STAAId) FRE, T

1. Inorganic nutrients and forests / 37oid 9I%eh ded 3R ao

2. Decomposers and climatic factors / 3TTgehRT 3R STedradl FR&

3. Decomposers and inorganic nutrients / UgeHRT 3R 3od U dd

4. Climatic factors and inorganic nutrients / SAdd RS R 3old TN dd

Correct Answer :-

« Climatic factors and inorganic nutrients / STTarId! R 3R 3fold UINS ded

32) One among the substances given below can easily exist in all the 3 states of matter by varying its
temperature. Identify that substance. /

Hr T 1w gerat & ¥ vF gerd F aHET H Y $-age fFAT 1w, A A rawnst & Gwedar
¥ A ® FFaT ¢ 39 gord Ay 9= F



1. Table salt. / €THTT THR
2. Diamond. / gRT

3. Helium gas. / &feraar 3
4. Water. / STel

Correct Answer :-

o Water. / ST

33) is used for making the pencil lead. /

ifrae s sa= & AT &1 3uher R e @
1. Graphite / JHIST

2. Diamond / &RT

3. Silica / f&ferer

4, Calcium / oA

Correct Answer :-

« Graphite / JHIST

34) To move an uncharged body from its state of rest , we have to apply : /

frelt Iemafla avg # 39%F RAuw & Fufa § @Awes F @A, g4 a@mer e
1. A balanced external force / Teh Hdfold aTed ol

2. An unbalanced electrostatic force / U Sm'gﬁﬁ RR 33?1?[ EN

3. An unbalanced external force / T &Wﬁﬁﬁ CIBEHI

4. A balanced frictional force / Teh Hdferd oYuT ol

Correct Answer :-

« An unbalanced external force / U &Wﬁ%ﬂa@aﬂ

35) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes
the acidic Silica contaminating the Ore particles? /

gATETSe ¥ die & fasewdor & ahoe, wia @1 vard sawe welw F 3ew FO A gRd Fa aror el e
F T I FAFH & T A FT T 82

2.C.
3. CaCl,

4, CaO

Correct Answer :-



36) National Science Day is celebrated on in India. / R & IET A=
feaw & AATIT ST B

1. February 28 /28 ThRas]
2.May1/178

3.June 5/ 59T

4.March 7 /7 94

Correct Answer :-

. February 28 /28 TRaR!

37) Evaluation is a ./ H\?ﬂ'lﬁ' THh gl

1. process unrelated to instructional objectives / Hﬂ?@ﬂ?ﬂiﬁ BE?QEﬁ & forw rgefaa ufear
2. continuous process / Tdd IfshdT

3. Non-quantitative process / IR-AHTCHS Yfshar

4. Non-qualitative process / ﬁT-‘IUTW ufesar

Correct Answer :-

« continuous process / dd gfehar

38) The educational programs of NCERT are telecasted on: / TAHIEHRE & Aa1fore
FEAFAT H W gaiRe frar srar g

1. Gyan Darshan channel / 3ol G2¥eT deTol

2. Doordarshan National channel / E.B‘d’%iﬁ SIreTel dolel
3. Doordarshan Bharti / EB?{Q?FI' HRAT

4. eGyankosh / §-JM®IN

Correct Answer :-

. Gyan Darshan channel / JTeT &2 deTel

39) Which group of organisms are not constituents of a food chain ?/

SA1al FT FleT @ WHE WIGT HE@T F °gTH A o2

1. Frog, snake, grass, eagle, grass hopper / #aeh, TTd, €T, T, fegar

2. Lion, rabbit, grass, wolf/ R, @, =, Afsar



3. Snake, grass, wolf, tiger / 9, g1g, Afam, g
4. Man, plankton, fish, grass hopper / #ATeId, Teldeh, HGell, ﬁng

Correct Answer :-

. Snake, grass, wolf, tiger / 9, g7g, Afam, g

40) Which of the following statements is not true for a constructivist teacher? / ffafaa
# A FIT A FY, T [@aEE Ras & e 7@ a8 82

1. His/her students work mainly in groups / 3eTeh &1 HET &9 q '\q?:lt@' H FF X &
2. His/her role is rooted in negotiation. / 3sTehl $fHeRT At H TAfE &

3. He/she assesses the students through testing by checking for correct responses. / g gl

gfafshan3it & fov Sra e 9AeToT & ATETH T STAT Hl 3hcled Hd &1
4. He/she values the interest of students. / dg SEl & fed & #Agcd cd %I
Correct Answer :-

. He/she assesses the students through testing by checking for correct responses. / a8 Tal
gfafsransit & forw Siig e 9d&Tor & ATETH & BT HT 3iheld A &l

41) «Assessment of learning” does not include: / "3 &1 HFda" AFT & nfAe
CE

1. Evidence based assessment/ 18T 3TUTRA 3TTeholel

2. Criteria based assessment/ HIG8 TR 3iTeholel

3. Assessment of outcomes / IRUTTHAT T HTehelel

4. Mapping students’ progress/ HITIA0T STAT T YT

Correct Answer :-

. Mapping students’ progress/ HIITIIOT BIAT hI TITTT

42) Which of the following statements is false about the collaborative learning

approach? / FUfad & 9 S 91 $Y YgUNTHSD JRATH TSI & IR § 7Tad 82
1. Social skills of learner are developed. / et &1 grETfoes sierer AeiAa gar
2. Emotional skills of learner are developed. / et &1 HTasTTcAS e, FRfAa giar

gl

3. Every student participates pro-actively in the task. / Iedeh ST, HT & t@' afgrgar &
HIET oIl B

4. Dominance of the teacher is reduced. / fR1&/ &1 UHTd HH g1 Srdl %I



Correct Answer :-

. Every student participates pro-actively in the task. / Icdeh I, P H q‘\ﬂ' afhgar &
HIIT T B

43) One of the following statements is true for the process of Roasting carried out during the
extraction of metals from their ores. Identify the true statement. /

frafaf@a & @ vF Fya s ¥ argst F faswdor & Sher fFo v seer A wie & Ao
HE ¥ 3H W FYA F GEAA |

1. Roasting is used for Carbonate ores. / AT T 3TN FHIEfac JIEH & o fHar Jmar %’I

2. Roasting is not used for Sulphide ores. / §ToTeT T 3YINT TeHISS JIEH & [T AGl fohaT SATAT &l

3. The ore is heated in the presence of air. / 3TIEH I gar & 3uieafa & IH fHAT FATAT %’I
4. The ore is heated in the absence of air. / 37IE&H I gaT &I aaouﬁaﬁr H IH far Srar ?»'I

Correct Answer :-

 The ore is heated in the presence of air. / 3TITH &I gdr $r 3ufeafa & 7197 fvar arar %’I

44) If the speed of sound is 340 m/s and the echo is returned in 3.5s, then the distance of the
reflecting rock from the sound source is: /

e usp @fy Ft fa 340 Hiex/AP S 2 iR 3.5 Ydbs A ufata™ aroy et @, @) @@= wid &1 ufdaf~d @ ara
T B g &

1.595m / 595 Hrex
2.1190m / 1190 HeX
3.170m / 170X

4.955m / 955 #HeX

Correct Answer :-

« 595m / 595 HIeX

45) The unit “hertz” is the SI unit of the physical quantity: /
rgea” A 7 A fr Wifas wmn 9 ue (Twens) 39 §:

1. Sound / &afer

2. Frequency / mﬁr

3. Period / 31@T&r

4, Amplitude / 3TITH

Correct Answer :-

» Frequency / 3TIT:|<:1?-|'



46) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /
TSP 3 3T 919 4 Abs | 144 fFft/ger @ 72 /et a w0 F=dl 8, ¢ B7 @or 3:-

1. -5 m/s?

2.5m/s2

3. 10m/s2

4. -10m/s2

Correct Answer :-

e -5m/s?

47) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will
be:/

THT Bt T fror MY 5 U Ut uR 30° & STua BT IR STufad gidt B, HT=T I fig &1 FHior ghm:
1. 60°
2.45°
3.30°
4.15°

Correct Answer :-

« 30°

48) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /
IcTTE Ta # e F FayAE AR aF & T F & AT sud RFnfea dar @

1. 180 equal parts / 180 SRTeR fg&at

2. 273 equal parts / 273 SRTeR TZEaT

3. 100 equal parts / 100 sRTeR T@&@r

4. 120 equal parts / 120 sRTeR feat

Correct Answer :-
« 100 equal parts / 100 sRTeR fgeat

49) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of
manure,farmwastes and bioagents is known as /

AW T 31 I & W6 A1 HIY gommedt B1 I, @ig F ARean Faw, N Ry 3R 99 FRE BT
UGN HEATdl §

1. Genetic manipulation. /3-11@3'?% T
2. Organic farming. / Sid fﬁf



3. Biofertilizer farming. / Sa3dR® HiY
4. Biochemical farming. / SRS Y

Correct Answer :-

« Organic farming. / 3id E‘I_v‘fﬁf

50) Combustible materials can be disposed off through / gg=12iier T fhas ATCIH q AIe™ a1
qHha &

1. Composting / SHFIIEEAT
2. Recycling / GeIRdIshUT

3. Dumping /ﬂﬁaﬁw

4. Incineration / HRHBT

Correct Answer :-

« Incineration / HRHTBT

51) The anhydride of H3PO4is: /

H3PO, PTTTEISSISS o
1. PCl4

2. PCls

3. PH;

4. P»Os5

Correct Answer :-

+ P05

52) Among the following ecosystems, man made ecosystem is /
fFrafafaa uitfRufas o 9 |, A e ot @ @:

1. Garden / CUIE]]

2. Ponds / dIdld

3. Forests / ST
4. Lakes / 3iid

Correct Answer :-

« Garden / Sf=T

53) Vibro-tactile aids are used for students. / fds)-¢aeTSd Heg T SUTRT
B P e forar wirar 21



1. mentally ill / AATES FT F AR
2. dumb / 33

3. deaf / §8Y
4.blind / 3%

Correct Answer :-

. deaf / 98X

54) The statement “the electrical resistance of a metal increases with temperature” is a: /

FY: U BT fagya ufRly, I A e g1’ Td _ #I
1. Concept / ITLROT

2. Theory / &G

3. Principle / fo0geT

4. Hypothesis / 9ReredsT

Correct Answer :-

. Principle / fa#
55) Herbarium is a dry preservation of ./ Eﬁﬁ'ﬂ'ﬁ DT TH Yoh IREOT %I
1. fishes / AT

2. bird feathers / 9&fr & 9@t
3. herbs / STar a{\ﬁ?ff
4. plants /tﬁ?ﬁ

Correct Answer :-

. plants / tﬁ‘iﬁ

56) Which one of the following is not an advantage of the Heuristic method of teaching? /

fFafafaa 3 @ #14 R 9t sgiifes fafy &1 1@ av T8 22

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Teh

ST 9TshaT Bl o &1, I8 Ueh [AREd AT @i & UTRT qrodshd & QU i
H HEIAT X THhal ¢l

2. It helps in developing creativity in the learners /Jg franfdat & @aArcASRar el F
H HAce +dr gl

3. The students develop the power of observation. / BTAT H 3delleheT I UATFd AR TAT gldr
gl



4. Self-activity is used for gaining knowledge. / FTeT UTCd el & folT T-IfAATT &1
39T fRaT STeT g

Correct Answer :-

. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Teh

ST 9ishaT Bl & &1, I8 Ueh [ARTd AT 3@ & uTRT qrodshd & QU i
H FgIaT IR Tohahl g

57) Which of the following types of question should be used by a science teacher to assess
the ability of a student to summarize and integrate the ideas? / fafsfla A a fPaTeR &
Y BT ITANI, T Ay Rare gR1 fAER) &) &7 3R TPipd $31 3 TP BT B &HdT B
3fipad $31 & fore far s anfee?

1. Selection type objective question / TIed aTel d{-glfo\-l"o YR

2. Supply type objective question / 3-1TC|;% arel d{-glf;-lbo RG]
3. Short answer type question / off 3t arel 99aT
4. Long answer type question / &Iel 3a3 aTel el

Correct Answer :-

 Long answer type question / Grer 3aX dTel Uel

58) Which of the following is a biotic factor?/
farafaf@a & & #la a1 s Fra &2
1. Microbes / fl?'ﬂ'U;r

2. water / STel

3. Soil / fAeer

4. Air/a'rﬂ;

Correct Answer :-

. Microbes/IIFJIIUOI

59) perseverance is an attribute that: / T&dl Th ICEAGI % a:

1. Allows repeated opportunities for success / heldl & folT TR-R AT ol &l
2. Gives success in single attempt / T & AT H THIT ol gl

3. Leads to continuous success / [dX holdr T 3T o JATdr %'I

4. Makes one narrow minded towards work / TH & 9fa dhioT I AT dr g1

Correct Answer :-



. Allows repeated opportunities for success / HheldT o folT SR-IR 37GEX &l gl

60) Which of the following is NOT true of performance-based assessments? / &ifof@d &
¥ FleT YgAA-3TeNRT HheleT HT AT T 82

1. It measures students ability to apply the knowledge learnt / Tg GIE]) =CIRY A 37T AT Sl
] e T &TACAT I AYAT &

2. It is simple and non-authentic / Ig Il 3R IR-garo= %’I
3. It is open-ended and time-bound / I§ E}lT—B—i?f (309A-U33) 3R FHI-ICY gl
4. It is process/product oriented/ g YfehdT / 3G 37y %I

Correct Answer :-

. It is simple and non-authentic / g HIcT IR IRy Bl



